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QUESTION 1

A customer needs a DR solution designed around the following requirements: There are 8 ms of latency between Sites
A and B The administrator needs the shortest RPO/RTO possible Application consistent snapshots are required Use of
Nutanix VSS 

Which Data Protection Method should be used? 

A. Async 

B. Metro Availability 

C. Near Sync 

D. Cloud Connect 

Correct Answer: C 

 

 

QUESTION 2

Refer to the exhibit. 
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An administrator has an existing cluster and needs to improve performance using AHV Turbo. Which two items are
required to achieve even greater performance? (Choose two.) 

A. Workloads are multi-threaded. 

B. VMs have one vCPU configured. 

C. VMs have multi-queue disabled. 

D. VMs have more than one vCPU. 

Correct Answer: AD 

 

QUESTION 3

An administrator learns that some security settings in a cluster have been changed. The environment is out of
compliance with required policies. 

Which function should be used to revert any settings that have changed from the defaults and prevent further
violations? 

Latest NCM-5.15 Dumps | NCM-5.15 Study Guide | NCM-5.15 Exam Questions                                3 / 5

https://www.passapply.com/ncm-5-15.html
https://www.passapply.com/ncm-5-15.html
https://www.passapply.com/ncm-5-15.html


https://www.passapply.com/ncm-5-15.html
2024 Latest passapply NCM-5.15 PDF and VCE dumps Download

A. Cluster Lockdown with strong password enforcement 

B. Advanced Intrusion Detection Environment (AIDE) 

C. Security Configuration Management Automation (SCMA) 

D. Defense Information Systems Agency STIG enforcement 

Correct Answer: C 

Reference: https://portal.nutanix.com/page/documents/details?targetId=Nutanix-Security-Guide-v5_17:secsecurity-scma-
implementation-wc-c.html 

 

QUESTION 4

An administrator inherits a new Nutanix environment and logs in to a CVM to check the network configuration. The
configuration is as follows: 

Which action should the administrator take to improve network performance? 
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A. Configure VLAN tagging both on br0 and br1 and their physical interfaces. 

B. Add eth0 and eth1 to the br0-up bond 

C. Configure balance-sib or balance-tcp mode for br0-up if switch configuration allows 

D. Remove one 10 Gbs interface from br0-up to make sure all 10 Gbs can be used. 

Correct Answer: C 

 

QUESTION 5

An administrator recently added VLAN 205 CRM in Prism Element. The workloads attached to the associated NICs are
unable to establish network connectivity. 

Which Layer 2 protocol allows the administrator to troubleshoot this issue from Prism Element? 

A. HDLC 

B. SUP 

C. LACP 

D. LLDP 

Correct Answer: D 

Switch information on Nutanix AHV 

Managing and troubleshooting virtual guests\\' network connectivity issues is quite difficult, if you do not have right
information about upstream switches. It is crucial to understand how Nutanix hosts are connected, hosting switch
name, 

location, switch port number. Nutanix AHV leverages OVS (Open VSwitch) to manage AHV hosts and Guest OS
network connectivity. OVS can use LLDP (Link Layer Discovery Protocol) to pull information from physical switches.
LLDP is 

automatically enabled on Nutanix AHV. To have LLDP discovery working you have to enable it on the network port
switches as well. Nutanix AHV will automatically pull switch information and present it in the Prism. 

In Prism Element, on main dashboard click on Home -> Network 
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